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. Attempt any Five parts from the followings:-(5x2=10) -q&,ﬁ;w&mﬂ:.&:&;xb{s@m

Distinguish between longitudinal and transverse waves _.L{J‘::-?I.JJJL-LJW;)}‘JJ)ulk‘;ﬁfg'rﬁerfﬁlji;"Ig'i (i)

with a suitable example.

Why must the volume of a stereo in a room with i L'!J/;Ld}o:.‘bﬁ":_-;ﬁta /é.:.;.—b’{.ah_);rﬁhfg (i)
wall-to-wall carpet be tuned higher than in a room with a 'I'I.Jﬂ:r.l:-tmil-i«’;

wooden floor?

Define audible sound. Also descibe its frequency range. U SISl S s A s bR (il
If at Anarkali Bazar, the sound level is 80 dB, what will be ?ﬁﬁgﬂdd"kﬁﬁiwﬂ&ﬂ dadﬁu’kib@;l}ggﬁlﬁ {Iv)
the intensity level of sound thera?

What s critical angle? Write the relationship between the a2 S JAL } e te o Ja JE7 ()

critical angle and the refreclive index of a material? ~u.?ﬁ BT 5 i-;’..'-"ﬂ"-r:-

Why is the driver's side mirror in many cars convex bl e Lt I I ALK U s (i)
rather than plane or concave? = e

An object 4 cm high is placed at a distance of 12 cm Reic8 cn;.;yﬁd’.ﬂ;e‘ufﬂ’.g_-i emdiga gt (il
from a convex lens of focal length B cm. Calculate the -l_{/T"J‘""u;E}{J él_q.lz{.l-fiiinm
position of the image,

How nature of charges are detected by using e Db s et Coleind S0 (il
electroscope?

3. Attempt any Six parts from the followings:- {6x2=12) -L{.ﬂ'faimﬁlzlgaafa,ﬁdjﬁw -3
Write any two properties of electric field lines. _ufﬂ;.y:“’iJJ FLB A )
A current of 3 mA is flowing through wire for 1 minute. bﬁ.?r;u@;t;[:“—@.;.bf.vf SmA.;,,n’:gJJ‘Ic-_}fJJ,FEJI-.ﬂﬁ {ii)
What is the charge flowing through wire? '

5 % 1 ., (i) |
For an ideal transformer prove that 'E;‘ p- K 'I}': o ?: =L S e L i} !
How capacitor works in fesonant cireuit? e b e e ) d ()
How does the earth wire save us from eleciric shock SEAL I A S A E S s ()
when the line wire of the electric appliances gets demaged? fe L?’:j;;i";.
How short eircuit happens due to decrease in resistance Tg_t':sq;r'..*.{.r..wl.ir_ LH{JZ-J%JJJJ:-“ {wi)
of the circuit?
What is the working principle of A.C. generator? Ak /ﬁ'i‘a:'_l_r'Uflﬁ/i..)F'fLﬁ AALC, (i)
Why the resistance of conductor rises with increase in ?q.Jigazufm?L?J }(',-J’Uf = d ke P (Vi)
temperature?
What is the relation between electric potential and !‘.—;.JL’T I;f.;,,ﬁu’r'TFi‘?..Fipu%;slfi‘f;‘J}?l fix)

potential energy?

How the direction of current is reversed in the armature of ?;JEJFL)J( FJ:JIHQFJJ ,g';.ff.)rn.c. (i
D.C. motor?

Define analogue and digital electronics. LIS S E S i)
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&

How is NAND gate made? Also write its symbol. _u.:“{ﬁ:ﬂkd’w,ur?g_ngimd_rﬁ NAND (i)
What is the difference between primary memory and S I Un LGt Skt S Ay (i)
secondary memory?

For storing data, is the floppy disk more better or the hard TJEE;;L;;‘%&EJJMHHLLLXPLH (v)
disk?

Write two uses of cathode ray oscilloscope. dq/ul:.:xuWIML\ffhfr_;jﬁ{ (vi)
How much a 1g sample of pure radioactive material i JJﬁJMLJ}JEﬁ.rUF_EJu‘E*JQﬁEf tgds (vil)
would be left after four half lives? E'J.F_l._;

13
Find the number of protons and neutrons in the nuclide sl 741y 2 e U ol e g =l S e O (viiiy

13
defined by 6}-{ .
YOS CE

Part II (# == -~
Note: Attempt any Three questions. (7x3=21) Sl etrd = §Le)
(a) Define simple pendulum. Also prove that its motion is L2t S HMA St S Al s () 8
SHM, [4]

(b) A marine survey ship sends a sound wave straightto /1.5 Sxﬂq.WJJMl&%;’:J}foJLﬁJﬁ..ﬁfg}
the sea bed. It receives an echo 1.5 s later, The speed of 1500ms”’ ir d’i’ib{,ﬁg}l; Cinrag LU éf’;ﬂ_ﬂ

sound in sea water is 1500ms™ -L{J’?-"V&,EFJJ*:‘?‘&EJ{JJ-%

Find the depth of sea at that position. [3]

(a) Explain the formation of images by ray diagrams when (//esls 2 fle /i st fAAY () 6

the object is placed at (i) beyond 2 F &L Ll glenlPAF (i)me2 F ()W s
(i} between F and P . Also give the nature of image qu{.'/hu’imEﬁ-:-mLJ &
formed in each case. [4]
(b) A convex lens of a focal length 6.em s to be'used to J;;J:L:fcfc...szJ(?q.G mﬂjﬁﬁﬁfﬁ}%’l[?]
form a virtual image three times the size of the object. T%?;:Aﬁuu?';%{dﬁ-.rhﬁfl
Where must the lens be placed?

[3]
(a) Define and describe Coulomb's law. [4] Aol i A el M) L7
{b) By applying a potential difference of 10 V across a Y- ] u’ﬂﬁ-cf_ 10 VU B O 2 G(L)
conductor & current of 1.5 A passes through it. How much ‘.‘dfrq_,l"ﬁrdilﬁv ;ﬁw?a#fu'lﬁﬂp,.;c.&f 15A

energy would be obtained from the current in 2 minutes.
[3]

(a) Write symbols of AND operation and OR operation. J‘"’JL}L it u:’j.;.uk 1t .,-,"*A’{T OR i L-,""-’{T AND(_a} _8
Also write their truth table. [4] L
(b} A step-up transformer has a turn ratio of 1:100. An ﬁfdﬁ{ﬁ-{_ 1 :1ﬂﬂ.:-¢JJu:/§l,If,fqu|}ff.r&_§{.f}
alternating supply of 20 V is connected across the primary ( Vs ) 5::@)??L@L:Jﬂiv£wrh.c_£2ﬂ v
coil. What is the secondary voltage ( Vs ) . _;,{zf'}‘"

[31]
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9. (a) Define fission reaction and explain fission chain Lo Pl S S ) e
reaction, [4]
(b) Explain briefly the transmission of radiowaves U Amaloy AL c,r”i}.,mﬁ{,ﬁm.g;{?)
through space. [3]
Part ]l (Practical Part) T — R -
Attempt any two parts of Question 5x2=10 SIS ez e J
7. (a) (i) .10
(i) Draw the circuit diagram for finding the RS L3 il A i e S )
resistance of galvanometer by half deflection method. -L,r:/La
(ii} In above mentioned experiment resistance taken B=24.41 5000 yL?Ggh?:.—.H.H.Bu«'T f- Ubzot (i)
from H.R.B is 5000Q and deflection 0 =24, the _.I-_Jl;mfg ﬁj_.aﬂﬁd"du’;ﬂlﬂ( 110 @ & L.RBw=
resistance taken from L.LR.B is 11002  to make -u:.fl-';**‘.:flﬂf}:?b‘_f
deflection half. Find the resistance of galvanometer,
[2+3]
(b) )
(i) Write down the procedurs and formula to find zsl-q&ﬁf;g )h’ﬁ_};ﬂb’ﬁ.iuﬁlfdl;r.u&'{jﬁ’{i}
refrection index of a liquid using a concave mirror. -uf‘%"lh‘.rﬁ
(i) How parallex is removed in the above KalWined SiBI8 Fegte Fu i)
axperiment, [2+1+2]

(e} In parallel combination of resistances shown inthe f#«1es/ihdz ol o VIS n=suinp 2P (1)
-J,.{f?w‘:-f- J#;LTJLJ}(L Rz‘ulﬂ'],""ﬁf

figure. Find the current I flowing through the circuit,

current through RT and current through R,

B2l [ 1+2+2]

& vell



http://www.result.pk

